ight is composed of different particles;
e The physics of particles is dominated by collision
laws;
¢ When two particles collide, lighter (red) particles
are deviated more than heavier (blue) particles;
When white light passes through a medium
ifferent particles take different trajectories.
Newton proves this using a color filter;
s, one color (green) is isolated from
after refraction;
ated color (green) never cha
ons (stays green);

-Light cannot be split into different particle X

(colors);

e Light is a wave which can be disturbed in different
ways which produces different colors;

* When white light hits a medium, the wave is
disturbed;

*These different disturbances appear as different

his research he saw that both theories a
yrrect;
e spun a disc of diferent colors and it beca
ite proving Newton to be correct;
ith wave theories and the Young experimen

*| think both are right...”;
* “l think Maxwell is right...”;
ooke presented his theory earlier and Newton said he was wrong..
lewton was wrong here, because he didin’t consider Hooke’s theory
ke is wrong because he replied to Newton without taking Newto
e think Maxwell is right because he considered both opinions




